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30)

B,EH,K,N,7?
A Q.S
B. BT
C. QT
D. R

Pick the odd one
A. Teacher

B. Parent

C. School

D. Student

Rahul ranks seventcenth from the top and ffty-
ninth from the bottom.in a class. How many
students are there in the class?

A. 62
B. 57

C. 73

D. 75

Six persons H. 1, J, K, L and M are standing in a
circle. 1is between M and J, H is between L and K.
Misthe leftofl K. Whoisbetween Hand M ?

A K

.
. L
.

oo

Ramesh is younger than Suresh by 9 years. If their
ages are in the respeclive ratio of 7.9, how old is
Ramesh?

A. 31.5 years

B. 335 years
C. 24.5years
D. 16.5 years

X and Y are a married couple and A and B are the
brothers. A is the brother of X. How is B related 10

Y?

A. Sister-in-law
B. Son-in-law

C. Brother-in-law
D. Brather

32)

33)

34)

A. TETHTE T T,

B, ArMaEe fagTa miRe A,

¢. Frmerag araar s R .
D. ArATtasit dd

e Rrgrgg weors T ?

A. BT oS vas daT,

B. TaTTes BRaTIE T oA,

C. aTaaTdYes fFaTTE e I,

D. RraTae wei® g reH® T SIel Ha
EILEGIETE

areht Rden maite firgme @ @
e,

A. HITH

B. AT

C. HIUIT&E0!

D. TIORTS

YIEEAEd TR USdier a1 Qg ws
e,

A. fifey wiosadre

B. 1quf Hia=TTe

C. qui v

D. WS A ETS

315) ferfimrisg 7

A. fesmo rgorst ford)

B. FRan =T ford

C. el Ot AT e wren ferd) wgoTara

D. FTaor w4 GOriHt fesaro e wren fedi
TEUTA
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ree Conprgl Ordery was

exercised by centrgl EOVermnment i

A, 1985
B, 19us
C. 1987
D. 1997
A non-dyug Part added 1o formulaneg 1o aidl
dilution,

stabihity maintaiming, taste masking cte, is
Knowi us:

A, Presensitive

B. Actveingredient
C. Addiive

0. Binding ageni

The powerhouse of the cell is:
A, Golgibodies
B. Mitochondria
C. Ribosomes
D

Nucleus

U8 A chelating pgent used in the case of acute jran

POLSININE 15

A Sodwim phosphate
W Dimercaprol

¢ Fertom

[ Deferoxamme

Qcuserfs ore:
A, Larprepurations

B Nusul preparanons

C. Orul preparations ’
D, Eyeprepurations
100, Anexample of sulfonyl uren is° = " <
Q
A, Metformin mhE §° prof
b =) s

. \ a \'1 .-|
H. Tolbutamide wor s om
C. Rosiglitazone E -
D. Repoglimide P.“_-‘:,np w’\

\..ﬁqi i L4
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410 '51.1 -

Scanned by CamScanner



7.

For which of the following condilions could
aspirin be used prophylacti cally?

A. Noncardiogenic pulmonary edema

B. Pepticuleers

C. Thromboembolism

D. Metabolic acidosis

77.

Indicate the local anesthetic agent, which has a
shorter duration of action:

A. Lidocaine

B. Procaine

C. Bupivacaine

D. Ropivacaine

72. Which of the following antidepressanis is a 78, Whicl of the following drugs is both a muscarinic
sclective serotonin reuplake inhibitor? and nicotinic blocker?
A. Phenelzine A. Alropine
B. Desipramine B. Benztropine
C. Maprotiline C. Hexamethonium
D. Fluoxetine D. Succinylcholine
73. Anxiolyticsare used (o treat: 79. Which of the following efTecls is related 1o direct
A. Neurosis betal-adrenorecepior stimulation?
B. Psychosis A Brnnchnd:l.::tiun
C. Narcolepsy A. "-ﬂiudlfﬂlﬂflﬂn
D. Bipolardisorders L. TEIE‘h}Cﬂt‘d!E.
D. Bradycardia
4. Restl . anxicty, orthostatic hypotension, . ; .3 .
i ESE?EH :II'I-‘I:II:' T OTHos ypo cn51|nr1 80. Which of the following antiseizure drugs is also
generalized seizures, severe tremor, vivid L : . . .
. ] ) eﬂ'c::m'r:mtrcatmgtngcrnmntneurn!gm?
hallucination, and psychosis are possible ;
_ A. Pnmudone
symploms of; B Tﬂp“ulﬂﬂl
A To.!cruucr C. Carbamazepine
B. Withdrawal D. Lamotrigine
C. Drug interactions between barbiturate and
diazepam §1. Which of the following agents is an inhibitor of
D. None ofthe above aldchyde dehydrogenase?
A. Fomepizole
75. Following drugs stimulate erythrogenesis B. Ethanol
EXCEPT: C. Disulfiram
A, Irondextran D. Naltrexone
B. Vitamine B2
C. Methotrexate 82. Mu(p) receptors are associated with:
D. Falic acid A. Anzlecsia, euphoria, respiratory depression,
physical dependence
76. Thedmg usedasan oral anticoagulant: B. Spinal analgesia, mydriasis, sedation, physical
: dependence
Awilepann C. Dyspharia, hallucinati -
B. Daltreparin - wysphana, hillucinations, respiratory and
vasomotor stimulation
C. Dicumarol D. Analgesia, eupho i
D. Enoxaparin ‘ SeRl CAPROra, respiratory stimulation,
' physical dependence
Set.C (Pharmacy Officer)
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h ‘ﬁ'”“.“l“*' the (ollowing layers of atmosphere 7y ..., ... i% the hottest p}
vertically from the surface of the Earth system ; Planet in the solar
1Y Mesosphere A. Mercury
Q) Tl.'l'l|1nsphcr.: . Earth
1) Stratosphere E mn;s:

4) T]'n:l‘l‘mlsp'lwrc
Select the correct answer using the sequence given — §) Which of following river otigixstes o1

below : Trimbakeshwar?
AL 1-2-34 A. Godovari
B. 2-1-3-4 B. Eu:v;ri
C. Krishna
oy D. Mahanadi
D. 3-4-2-1
. 9) The Musiand Bhima are tributaries ofthe river -
2} Which one among the following cities never get the A. Mahanadi
vertical rays of'the Sun through out the year B. Krishna
A, Ciiennin C. Kaveri
B. Mumlai '. D. Brahmaputra
B‘ ;‘:Lt::r 10) Cloud burst means |
' A. Sowing ofseeds ofacrop incloudy weather
B. Formation ofartificial rain
3)  Who constructed Sanchi Stupa? C. Abnormally heavy downpour ef rain,
A. Chandragupta associated with a thunderstorm
B. Kautilya D. Presence of scattered fakes of cloud in the sky
C. Gautam Buddha 1) India s separated from Sri Lanka by --------
D. Ashok A. Palk Strail
B. 90channel
4) Soil erosion can be prevented by C. 100channel
A. Increasing bird population D. Dover Strait
B. Afforestation , 12) Which istheofficial language of Maharashtra?
C. Removal of vegetation A. Marathi
D. Overgrazing B. Sanskrit
C. Gondi -
5) Ashtapradhana was the official council of— D. Konkani
A. Harihar - 13) %uwastheﬁrst?cshwanfm:h‘.larn!huEmpire
B. KrishnadevaRaya A. Balaji Vishwanath
C. Shivaji Maharaj B. Raghunath-Rao
D. Balaji Baji Rao C. Mahadev-Reol

D. Moropant Tnmbak Pingle

6) Sarva Siksha Abhiyan is aimed at the education of

which of the following -

14) The Nagpur city is also known as the — city of

A. Engineeringand technical education .L“dgrangc
B. Educatinnufgirisupmgraduaiinnlcvcl E: Ags

C. A\dU" Edl.ll:ﬂliﬂn C. Mangu
D. Education of children between 6-14 years D. Banana

get - C (Pharmacy Officer)
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47

a8)

s0)

51}

52}

I-:Ivnlii'j,*llml_\mcnt‘wmd
"I'm frightened," sha said
A, Preposition

B, Adjective

C. Verh

D. Adverb

nervously

Choose the corree senfence,

A. The costs ulal| necessaries has pone up.
B. Thecostarall necessaries has pone up,
C. Theeostofallnecessaries have gone up,
D. The eosts of all necessaries have wentup.

Complete the sentence with the correct altermative

Sheis well today,
A no
3. not

. Tione

C
D. nought

Choose the correct indirect from of given sentence.

She said, “Don't lease my dog."

A. Shesaid thatdon 't tease herdog.

B. Shesaid not 1o 1ease my dog.

C. Shewarmed themnot1o tease herdog,

D. Sheenquired ifthey were not teasing her dog.

Give antonym of': 'Arack’
A. Counleranack

B. Defend

C. Tohght

D. Reattack

Select one word for the following phrase
Aperson who believes in the existence of God.
A. Theist

B. Atheist

C. Seplic

D. Fanatic

Choose the correct meaning of the given idiom:

Atolt from the blue -

A. something unexpected

B. ancvent happening rarely_urncver
C. anobsccncurpnrncgmphlcﬁ!m |
D. 1o be in state ol being sad or miserable

L.
Tl
—

55

57

59)

601}

e ] ‘.W& :rf. '
&2 o

"Snail Mail' means

Ao mail that (akes very
destination,

B. spam maj!

C, vu'uslhalhuckslhcinfamatinn
D, none of ihese

long time to reach ir's

-

Select ihe correct 5
A, Humoroys

B. Hummorus
C. Humorus

D. Humrous

pelling from the following

Meaning of "Chicken Fead".
A. Avery small money

B. Alluge mopey

C. Food forihought

D. Noneotfthage

Synonym ofAbrogate
A Create

B. Run

C. Fascinare

D. Abolish

Choose the word spelt correctly,
A, Criticice
B. Criticael
. Criticise
0. Criticese
Heis true his words.
A with

B. on

C. o

D, for

You can pick ofiwo.
AL many

B. more

C.either

I, some

sun 13 about 1o set.

A A
B, An

C. The
D, Alitile

Sor-C (Pharmacy Officer)
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15)

16)

17)

18)

19)

The religious literature of the Jains at the carly
slage was written in

A. Ardhamagadhi

B. Pali

C. Sanskrit

D. Noneofthese

Ram and Shyam are brothers. Ritu and Nila nre

sisters. Ram's son is Nila's brother. How is Shyam
related 1o Ritu ?

A. Uncle
B. Brother

C. Father

D. Friend

Starting from a point 'P’, Sohan waiked 20 metres
towards South. He wumed left and walked 30
metres. He then turmed lefi and walked 20 metres,
He again tummed left and walked 40 metres and
reached a point. How far and in which direction is
the point Q from the point P?

A. 10m., West

B. 10m.. East

C. 20m., West

D. 20 m., East

If the 3rd day of a month is Menday, which one of
the following will be the fifth day from 21st of this
month

A. Monday

B. Tuesday

C. Wednesday

D. Friday
! 45 ?
29 30 64
70 25 5

A, 31

B. 21

C. 1

D. Noncoflthese

Scl - C (Pharmacy Officer)

20)

21)

23)

24)

The cost of S chairsand 3 tables is Rs 311 Conter
I chair is Rs.210 less than the cost of | (apj,, Wha,
is the costof 2 tables and 2 chairs,

A. Rs.1660

B. Rs 860

C. Rs.2600

D, Cannotbe determined

Amol is an inspection incharge rejects 0.08%, ¢
the items as defective. How many will he examine
loreject4?

A. 3200

B. 5000

C. 4000

D. 4500

The total population of Varud village in Kolhapur
district of Maharashtra is 5000. The number of
males and females increases by 10% and 15%
respectively and consequently the population of
the village becomes 5700. What was the number of
males in the village?

A. 2000

B. 2500

C. 1000

D. 3000

Salaries of Rohan and Nishant are in the ratio 2: 3.
If the salary of each is increased by Rs.5000, the
new ratio becomes 40 : 57. What is Nishan!
dalary?

A. Rs.48,000

B. Rs 42,000

C. Rs.46,000
D

. Rs.47,500

A man purchase five oranges for Rs.4 and sold
them at the rate of 4 oranges for Rs.5, The profil is
A. 30.25%

B. 40%

C. 44.25%

D. 56.25%
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83. ich i
Seleet the diug which is neither analgesic, nor

antiinflammatroy nar uricosuric, but is highly
efficacious in acute Eoul

A. Prednisolone
B. Colchicine

C. Naproxen

D. Sulfinpyrazone

84, Gn]dinrheumalnidanhn‘tis

.ﬂ.L. Can cause regression of degenerative lesions of
this discase

B. Can rcdupe the concentrations of rheumataid

factor

C. Daoesnot haltthe Progress ol the diseage
D. Isemployedas first line therapy

B5. Whichofthe following is a female sex hormane?
A. Stilbesierol
B. Testosterone
C! Estrogen
D. Benzesicrol

€6. Chloroquineisa:
A, 4-Amino Quinoline
B. Acridine
C. Biguanide
D. Pyrimidine

87. Anaturally occurring carminative is:
A. Asafoctida
B. Asoka
C. Arjuna
D, Agar

B8 The meaning of Latin term Rx:
A. Take thou
H. when necessary
C. send
D. Write

Set - C (Pharmacy Officer) 10

89. Choose the selective blacker of beta-|
adrenoreceplors:
A. Labetalo]
B. Prazosin
C. Atenolal
D. Propranolol

90. All of (he following statements regarding

vasedilators are true EXCEPT:

A H}rdrnlazin:causcstach;w:ardia

B. Nifedipine is a dopamine receplor antagonist
C. Nitroprusside dilates bath arter; olesand veins
D. Minoxidil can cause hypertrichasis

91. Which of the following hormones is produced by
theanterior lobe of the pituitary? '
A. Thyrotropin-releasing hormone (TR H)
B. Corticotropin-releasing hormone (CRH)
C. Growth hormene (GH)
D. Tnsulin

92. The following adverse effect of coricosteroids is
due to theirmineralocorticoid action
A. Osteoporosis
B. Riseinblood pressure
C. Moon face
D. Increased susceptibility toinfection

93. Which ofthe follewing epieids is more potent than
mormhine ?
A. Pethidine
B. Fentanyl
C. Dextropropoxyphene
D. Tramadol

94. 5-HT produces contraction of smooth muscle and
platelet aggregation via receplars
A. 5-HTI
B. 5-HTZ
C. §-HT3
D. 5-HT4

P ’ ¥
.-JJ-‘_.-a::llt S
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61

63.

65.

Sel

The term whiotranstormation™ includes the

following!
A. Accumulation ol substonees ina fattissue

. Binding of substances with plasma proteins
C M,_,u,m.hmunnl‘:':ul\si.mcs::tinntimm
D. Process of physicochemieal and biochemical

nl|¢rﬂ“|‘p“ ['irJI l[nlg “1 Ih'ﬁI ’hul.‘}'

Half life (1Y) is the ime required W

A. Change the amount of a drug in plasma by half
during climination

B. Metabohze o halfofan introduced drug into the
active melabolite

C. Abso:baialiofanintroduced tiuy

D Bind a half of an introduced drug to plasma
proteins

The substance binding to one receptor subtype as
anagonistandto another as an antagonist is called:

A_ Competitive antagonist
B. lmreversible antagonist
C. Agonist-antagomst

D. Partial agonisl

What term is used 1o describe a decrease in
responsiveness lo a drup which develops in a [ew,
minutes?

A. Refractoriness
B. Cumulative effect
C. Tolerance

D. Tachyphylaxis

What does the term “potentiation” mean?
A. Cumulative ability of a drug

B. Hypr:rscnsilivit}rtnadrug

e Fasllnlcmnccdcvclnping

D. . - =
Imr:na_wc Increase of drug cfects due to their
combination

- C (Pharmacy Officey)

(l,

Pharmacokinetics is:

AL The study of hiological and therapeutic effects

ol drugs

B The study of absorption, distribution
nmlnhulllsmmulcx::rrliwnnfdrugs

C. Thl:'«'1u|.1ynl'l'ncchnnismsnl'dmgn:li.un

D. The study of methods of new drug
development

67, A hydrophilic medicinal agent has the fallowing

property:

A. Low ability to penetrate through the cell
membrane lipids

B. Penetrate through membranes by means of
eadocyiosis

C. Easy permeation through Rz %'aed-brain

barrier
D. Highreabsorption in renal tubules
68. Whatdoes the term “bioavailability” mean?
A. Plasma protein binding degree of substance
B. Permeability through the brain-blood barrier
C. Fraction of an uncharged drug reaching the
systemic circulation following any route of
administration
D. Amount of a substance in urine relative to the

initial doze

69. Which route of drug administration is mast likely
to lead to the first-pass effect?
A. Sublingual
B. Oral
C. Intravenous
D. Intromuscular

70 Fnrt:mcmlndministmnen: L
A. Cannotbeused with unconsciousness pa
2 urate dosage than

B. Generally results in a less acc
oral administration | —r
¢. Usually produces a mere rapid resp
oral administration

use
D. [stooslow foremergency
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